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Graph the line perpendicular to line AB that passes ‘ﬂ![ﬂuﬁﬁ?i point .

-———- —_—

In Exercises 28 and 29, consider the three given lines.
Line a: through the point (2, 0) with a y-intercept of (0, 1)

[Line b: through the point (2, 0) with a y-intercept of (0, 5)
Line ¢: through the point (2. 0) with a y-intercept of (0, 3)

28. Which line 1s most steep? line 5

29. Which line is least steep? linea
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= " 30. Parallelograms A parallelogram is a four-sided
figure whose opposite sides are parallel. Explain

why the figure shown is a parallelogram.

\

Tell whether the lines through the given points are parallel, perpenui.uia:

‘or neither.

;m,_, 1 '(-1,_2-),.(2;,3) 11. Line 1: (0, 1), (1. 3) 12. Line I: (=5. 0. (=3, =& MmE = pMep =3 Mg = by =10,
The opposite sides of the figure are parallel

Line 2: (4, —1), (5. 2) Line 2: (—2, 2), (0, 4)
yerpendic u! ar | because they have the same slope.

neither
14. Linel:(—=5,.2).(—2,2) 15. Line 1:(—2,5),(1.4)

Line 2:(2.1). (4, 1) Line 2: (4, 0) (5, |
parallel perpendicular 31. Escalators On an escalator, you move 2 feet vertically for every
section of AB and CD forms a right angle. 3 feet you move horizontally. When you reach the top of the
| escalator. you have moved a horizontal distance of 90 feet.

_ nters , I .
@, Ba..ﬂ), €(0,9),D(~1,0) yes 17. A4(3.2), 50, 10), C(7, =4), DX L ’ Find the height 4 of the escalator, 60 feet

-H,zm,ccg —2),D(6,4) no 19. A(7,12), B(1,5),C(10, =7), D3, = 1) yes

. 17), B(— ,}s) C(6,11),D(5,8) no 21. A(-7.3),B(—10,15),C(~1,5), D(4,35) no

2 oy B oow ] -2
y@s 5.y =1, mzp —--5 no 6.moy = ~ 5 ’"'—‘(1) = —75: Yes
9. m = —5 " No

g,mf—*-?: D = "3 YeS T LT




2.

Write an equation of the line that passes through point P and is paraliel
to the line with the given equation. See below

7. P(—2,0;;y=—1x+6

> 8. P(3,9)5v=4x— 8

9. P{—5 —4);y=—2x—

Write an equation of the line that passes through pomt & and is
perpendicular to the line with the given equation.

P4, 5); y =

10. P(5.20);y = 3x + 8 11.

Write an equation of the line that passes through peint P and s paralis!
to line AB.

Lp=%x+12y=—x+2 3.p=—jx+

' | 4 2 =20 T
" Sly=-—2v—3 6.y=3x+t3 7.py= 3! l

-

"

1 9.y= —2x— 14 10.y=—2x+30 1M.y=3x—7 12.x=

Geometry
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Pra ctice B coninved

| For use with pages 180-187 :

Write an equation of the line that passes ti
perpendicular to line AB.
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Country Club The graph models the total cost of
joining a country club. Write an equation of the
lime. Explain the meaning of the slope and the
y-intercept of the line.

v = 500x -+ 5000; The slope is the monthly fee.

5300, and the y-intercept is the initial cost to join the
club, $5000.

Geometry
Chapte3 Reurce Book
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Zl, £2, 23, and Z4 are Z1 and Z£2 are complementary:
right angles; Theorem 3.9 Theorem 3.10

S. 25 8.

25. Maps A map of a neighborhood is drawn on a graph wheteum@ are measured
in feet. |
|

- —— e @ o — - @ —
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Find the measure of the indicated angle. LM s 90 3 R0 | 500§ TOUSHIRG
A a. FindmZ1. 90°

10. Z1 90° 11. £2 30° ' Al (P ,
12. 23 60° 13. 24 30° Pl - e AIDRE b. Findmz2. W §Y

14, 25 30° 15. 26 60° c. Find the distance from point P to line a. 500 ft
| _ d. Find the distance from point P to line ¢. Round your answer to the nearest foo
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